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SN BAS
I BAES AFEAHH|
S9l: FOINAME HASY L BOANL XY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| | Ogolglolg WA ol 300,000 300
S ESE A 31,670 31,670 0
ScBtAESSE AL 31,670 31,670 0
301 et A= 31,670 31,670 0
05 S& -0 -t EsEAZ 31,670 31,670 0
Os&dsd 200,000 9 x12& 21,600
OsSHANW= 200,000 x9H 22 3,600
Os&Z &ML 20,000& *9Y »235| x 12& 4,320
Ot &= 50,000& *43Y 13| 2,150
HES2AAH (EMS) 81,961 81,195 766
laEadY|(BAatS) 32,401 31,275 1,126
XNHOIAHY| (B AtS) 32,401 31,275 1,126
101 e1214| 32,401 31,275 1,126
03 2INHAZ2Z2XNHE = 32,401 31,275 1,126
OFAIZZ| L2122 (1Y) 32,401
23 1,212,120& ~12& 14,546
= 1,212, 1202 x4 & 4,849
-A 2 =& 10,320& *22 Al 2tx12& 2,725
-5U224 82,630 2 x12& 1,984
-F=54 55,000& x52%= 2,865
-AXmas 55,090& 10 551
-JHAE 2 1,212,120 x 122 *12% 1,746
-HHZAH| 80,000& «12& 960
-WEE XY 60,000 x12& 720
-HE S| 1,212, 1202 *60%*23] 1,455
JI2ZH(BaSE) 49,560 49,920 A\ 360
Jl2Z3H(BE&sE) 49,560 49,920 A\ 360
201 LBt 9| 25,000 25,000 0
01 AP 22| d| 11,000 11,000 0
OBAMSI A2 22| ] 11,000,000& 11,000
02 Z32%H| 14,000 14,000 0
O&EI2 11,000,000 11,000
Oatet==22 1,500,000 1,500
o= 1,500,000& 1,500
202 o4 | 15,540 15,040 500
01 2U 01 b 15,540 15,040 500
OSsdI2L+8 Y| 2,100,000 2,100
OJI2dL2=s 0| (7H) 13,440,000& 13,440
203 R F & 9,020 9,880 A 860
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